# MAXIMAL ENERGY OF SUBDIVISIONS OF GRAPHS WITH A FIXED CHROMATIC NUMBER 

MEILING HU, WEIGEN YAN, AND WEI QIU


#### Abstract

The energy of a simple graph $G$, denoted by $E(G)$, is defined as the sum of the absolute values of eigenvalues of $G$. In this paper, we show that, among all subdivisions of graphs with $n$ vertices and chromatic number $k$, the subdivision of the Turán graph $T(n, k)$ has the maximal energy.


## 1. Introduction

Let $G$ be a simple graph with vertex set $\left\{v_{1}, v_{2}, \ldots, v_{n}\right\}$ and edge set $\left\{e_{1}, e_{2}, \ldots, e_{m}\right\}$. Suppose $S(G)$ is the subdivision of $G$, which is obtained from $G$ by replacing each edge with a path with three vertices (i.e. inserting a new vertex to each edge of $G$ ). For the graph $G$ in Figure 1(a), the subdivision $S(G)$ of $G$ is illustrated in Figure 1(b). Hence $S(G)$ is a bipartite graph with $m+n$ vertices and $2 m$ edges. Let $\Delta(G)$ be the diagonal matrix of $G$ whose $i$-th diagonal entry is the degree of the vertex $v_{i}(1 \leq i \leq n)$. The adjacency matrix $A(G)$ of $G$ is the square matrix $A(G)=\left(a_{i j}\right)$ of order $n$, where $a_{i j}=1$ if $v_{i}$ and $v_{j}$ are adjacent and 0 otherwise. Let $Q(G)=\Delta(G)+A(G)$ be the signless Laplacian matrix of $G$. The eigenvalues of $Q(G)$ are called the signless Laplacian eigenvalues of $G$. Let $K_{a_{1}, a_{2}, \ldots, a_{k}}$ be the complete multipartite graph with $n=\sum_{i=1}^{k} a_{i}$ vertices, whose vertex set is partitioned into $k$ parts: $V_{1}, V_{2}, \ldots, V_{k}$, of cardinalities $a_{1}, a_{2}, \ldots, a_{k}$, and an edge joins two vertices if and only if they belong to different parts. Let $n$ and $k$ be two positive integers satisfying $n=r k+s$ and $r>0,0 \leqslant s<k$. The complete multipartite graph $K_{\underbrace{}_{k-s}}^{\underbrace{}_{,}, r} \underbrace{r+1, \ldots, r+1}_{s}$ is called the Turán graph, denoted by $T(n, k)$.

Gutman [8] define the energy of a graph $G$ with $n$ vertices, denoted by $E(G)$, as

$$
E(G)=\sum_{i=1}^{n}\left|\lambda_{i}(G)\right|
$$

where $\lambda_{i}(G)$ 's are the eigenvalues of the adjacency matrix of $G$.
2000 Mathematics Subject Classification. Primary 05C15, 05C16.
Key words and phrases. Signless Laplacian matrix, Multipartite graph, Energy, Chromatic number. The second author was supported in part by NSFC Grant (11171134).


Figure 1. (a). A graph $G$. (b). The subdivision $S(G)$ of $G$.
Historically chemists used the model in which the experimental heats of formation of conjugated hydrocarbons are closely related to the total $\pi$-electron energy. Today such a model is over simplistic, but nevertheless HMO has some value as it points to that part of the experimental heats of formation of conjugated hydrocarbons that can be viewed as due to molecular connectvtiz (molecular topology). The calculation of the total $\pi$-electron energy in a conjugated hydrocarbon can be reduced (within the framework of the HMO approximation [10]) to $\mathcal{E}(G)$ of the corresponding graph $G$. The energy of graphs has been studied extensively (see for example $[1,7,11,12,13,14,16,19]$ ).

In general, let $X_{k}$ be any square matrix of order $k$ and let $I_{k}$ be the unit matrix of order $k$. The characteristic polynomial of $X_{k}$ is defined as

$$
\sigma\left(X_{k}, x\right)=\operatorname{det}\left[x I_{k}-X_{k}\right],
$$

where $\operatorname{det}[$ ] is used to denote the determinant of a square matrix.
It well know [3] that if $G$ is a bipartite with $n$ vertices then the characteristic polynomial $\sigma(G, x)$ of $G$ has the following form:

$$
\begin{equation*}
\sigma(G, x)=\operatorname{det}\left(x I_{n}-A(G)\right)=\sum_{t=0}^{[n / 2]}(-1)^{t} b(G, t) x^{n-2 t} \tag{1.1}
\end{equation*}
$$

where $b(G, 0)=1$ and $b(G, t) \geq 0$ for all $t=1,2, \ldots,[n / 2]$. This expression for $\sigma(G, x)$ induces a quasi-order relation (i.e. reflexive and transitive relation) on the set of all bipartite graphs with $n$ vertices: If $G_{1}$ and $G_{2}$ are bipartite graphs with characteristic polynomials in the form (1.1)

$$
G_{1} \succeq G_{2} \Longleftrightarrow b\left(G_{1}, t\right) \geq b\left(G_{2}, t\right) \text { for all } t=0,1, \ldots,[n / 2]
$$

If $G_{1} \succeq G_{2}$ and there exists $k$ such that $b\left(G_{1}, k\right)>b\left(G_{2}, k\right)$, then we write $G_{1} \succ G_{2}$.
Gutman [5] introduced this quasi-order relation in order to compare the energies of a pair of graphs. It is well known that if $G$ is a bipartite graph, then the energy of $G$ can
be expressed by means of the Coulson integral formula $[6,10]$

$$
\begin{equation*}
E(G)=\frac{2}{\pi} \int_{0}^{\infty} x^{-2} \ln \left[1+\sum_{t=1}^{[n / 2]} b(G, t) x^{2 t}\right] d_{x} \tag{1.2}
\end{equation*}
$$

which implies: $G_{1} \succeq G_{2} \Longrightarrow E\left(G_{1}\right) \geq E\left(G_{2}\right)$ and $G_{1} \succ G_{2} \Longrightarrow E\left(G_{1}\right)>E\left(G_{2}\right)$.
This increasing property of $E$ has been successfully applied in the study of the extremal values of the energy over a significant class of graphs. See for example the papers $[15,16$, 20, 21].

In this paper, we compute the signless Laplacian eigenvalues of the complete multipartite graphs $K_{a_{1}, a_{2}, \ldots, a_{k}}$ in the next section. In Section 3, we prove that, among all graphs with $n$ vertices and chromatic number $k$, the Turán graph $T(n, k)$ has the maximal coefficients of signless Laplacian characteristic polynomial, which implies immediately that, among all subdivisions of graphs with $n$ vertices and chromatic number $k$, the subdivision of the Turán graph $T(n, k)$ has the maximal energy.

## 2. The signless Laplacian eigenvalues of complete multipartite graphs

Delorme [4] determined the eigenvalues of the adjacency matrix of the complete multipartite graphs. In this section, we use a similar method to compute the signless Laplacian eigenvalues of complete multipartite graphs.

Theorem 2.1. The characteristic polynomial of signless Laplacian matrix of complete multipartite graph $G=K_{a_{1}, a_{2}, \ldots, a_{k}}$ with $\sum_{i=1}^{k} a_{i}=n$ is

$$
\sigma(Q(G), x)=\prod_{i=1}^{k}\left(x-n+a_{i}\right)^{a_{i}-1}\left(\prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)\right) .
$$

Proof. For the convenience, we use $Q, A$ and $\Delta$ to denote matrices $Q(G), A(G)$ and $\Delta(G)$.
Note that if vertices $v$ and $w$ are in the same part of $G$, the transpose of the row vector $\beta_{i}$ whose coordinates on $v, w$ and elsewhere are respectively $1,-1$ and 0 is an eigenvector for the eigenvalue $n-a_{i}$ of the signless Laplacian matrix $Q$, and there are $a_{i}-1$ eigenvectors for the eigenvalue $n-a_{i}(1 \leq i \leq k)$. So we can find $\sum_{i=1}^{k}\left(a_{i}-1\right)=n-k$ linearly independent eigenvectors of matrix $Q$ which generate a linear subspace $U$ of dimension $n-k$. Now we choose an orthogonal basis of the orthogonal complement of $U$. It is constituted by the transposes of $k$ row vectors $\gamma_{i}(1 \leq i \leq k)$, where $\gamma_{i}$ is the vector whose coordinates on vertices $v \in V_{i}$ are 1 and elsewhere are 0 , that is, $\gamma_{i}=(0, \ldots, 0, \overbrace{1, \ldots, 1}^{a_{i}}, 0, \ldots, 0)$. It is easy to find that $Q\left(\gamma_{1}^{T}, \gamma_{2}^{T}, \ldots, \gamma_{k}^{T}\right)=\left(\gamma_{1}^{T}, \gamma_{2}^{T}, \ldots, \gamma_{k}^{T}\right) N_{k}$, where $N_{k}=\left(n_{i j}\right)$ is a $k \times k$
matrix such that $n_{i j}=n-a_{i}$ if $i=j$ and $n_{i j}=a_{j}$ if $i \neq j$. It is not difficult to prove the following claim.

Claim. The characteristic polynomial of $N_{k}$ is given by

$$
\operatorname{det}\left(x I_{k}-N_{k}\right)=\prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)
$$

Let

$$
X_{n}=\left(\beta_{1}^{T}, \beta_{2}^{T}, \ldots, \beta_{n-k}^{T}, \gamma_{1}^{T}, \gamma_{2}^{T}, \ldots, \gamma_{k}^{T}\right)
$$

Then $Q X_{n}=X_{n} M_{n}$, where the block diagonal matrix

$$
M_{n}=\operatorname{diag}\left(\left(n-a_{1}\right) I_{a_{1}-1},\left(n-a_{2}\right) I_{a_{2}-1}, \ldots,\left(n-a_{k}\right) I_{a_{k}-1}, N_{k}\right)
$$

Hence $Q=X_{n} M_{n} X_{n}^{-1}$ has the same eigenvalues as $M_{n}$. Note that, by the the claim above,

$$
\left|x I_{n}-M_{n}\right|=\prod_{i=1}^{k}\left(x-n+a_{i}\right)^{a_{i}-1}\left(\prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)\right) .
$$

The theorem has thus proved.
Remark 2.2. By Theorem 2.1, the signless Laplacian eigenvalues of $K_{a_{1}, a_{2}, \ldots, a_{k}}\left(\sum_{i=1}^{k} a_{i}=\right.$ $n)$ are $n-a_{i}$ with multiplicity $a_{i}-1(i=1,2, \ldots, k)$ and the roots of the polynomial $\prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)$.

## 3. Main Results

First, we define the relation $\succ(\prec, \succeq, \preceq)$ as follows.
Definition 3.1 ([17]). We say $p$ is partial larger than $q$ if $|p|>|q|$, denoted by $p \succ q$. Similarly, we have $p \prec q, p \succeq q, p \preceq q$.

Definition 3.2 ([17]). Let $p(x)=\sum_{i=0}^{n} p_{i} x^{i}$ and $q(x)=\sum_{i=0}^{n} q_{i} x^{i}$. If $\left|p_{i}\right| \geqslant\left|q_{i}\right|$ (resp. $\left|p_{i}\right| \leqslant\left|q_{i}\right|$ ) for each $0 \leqslant i \leqslant n$, then we call $p(x) \succeq q(x)$ (resp. $\left.p(x) \preceq q(x)\right)$. If $p(x) \succeq q(x)$ (resp. $p(x) \preceq q(x)$ ), and there exists a $j \in\{0,1, \cdots, n\}$ such that $p_{j} \succ q_{j}$ (resp. $p_{j} \prec q_{j}$ ), we call $p(x) \succ q(x)($ resp. $p(x) \prec q(x))$.

By the definition above, the following result is immediate.
Lemma 3.3. Suppose $a_{i} \geqslant b_{i} \geqslant 0$ for $i=1,2, \cdots, n$. Then

$$
\prod_{i=1}^{n}\left(x-a_{i}\right) \succeq \prod_{i=1}^{n}\left(x-b_{i}\right)
$$

furthermore, if there exists $a j \in\{1,2, \cdots, n\}$ such that $a_{j}>b_{j}$, then

$$
\prod_{i=1}^{n}\left(x-a_{i}\right) \succ \prod_{i=1}^{n}\left(x-b_{i}\right)
$$

Lemma 3.4. Let $n, a$ and $b$ be three positive integers and $a-b \geqslant 2, a \leqslant n$. Then

$$
(x-n+a-1)^{a-2}(x-n+b+1)^{b} \succ(x-n+a)^{a-1}(x-n+b)^{b-1} .
$$

Proof. Note that

$$
(x-n+a-1)(x-n+b+1)=x^{2}-2 n x+(a+b) x-n(a+b)+a b+n^{2}+a-b-1
$$

and

$$
(x-n+a)(x-n+b)=x^{2}-2 n x+(a+b) x-n(a+b)+a b+n^{2} .
$$

Since $a-b-2 \geq 0$, by Lemma 3.3,

$$
\begin{equation*}
(x-n+a-1)^{b-1}(x-n+b+1)^{b-1} \succ(x-n+a)^{b-1}(x-n+b)^{b-1} . \tag{3.1}
\end{equation*}
$$

Again, by Lemma 3.3,

$$
\begin{equation*}
(x-n+a-1)^{a-b-1}(x-n+b+1)^{1} \succ(x-n+a)^{a-b} . \tag{3.2}
\end{equation*}
$$

The result follows from (3.1) $\times$ (3.2).
Lemma $3.5([9])$. Let $G_{1}$ and $G_{2}$ be two bipartite graphs with $n$ vertices. Then

$$
\begin{gathered}
\sigma\left(G_{1}, x\right) \succeq \sigma\left(G_{2}, x\right) \Rightarrow E\left(G_{1}\right) \succeq E\left(G_{2}\right) ; \\
\sigma\left(G_{1}, x\right) \succ \sigma\left(G_{2}, x\right) \Rightarrow E\left(G_{1}\right) \succ E\left(G_{2}\right) .
\end{gathered}
$$

Lemma 3.6 ([18]). Let $G$ be a graph with $n$ vertices and $m$ edges. Then

$$
\sigma(S(G), x)=x^{m-n} \sigma\left(Q(G), x^{2}\right)=x^{m-n} \operatorname{det}\left(x^{2} I_{n}-Q(G)\right)
$$

A subgraph $H$ of a graph $G$ is called a $T U$-subgraph if each component of $H$ is a tree or a unicyclic graph whose cycle has an odd number of vertices. Suppose all components of a $T U$-subgraph $H$ are $T_{1}, T_{2}, \ldots, T_{s}, U_{1}, U_{2}, \ldots, U_{t}$, where $T_{i}$ 's are trees and $U_{j}$ 's are unicyclic graph, and $n_{i}$ is the number of vertices of $T_{i}$ for $i=1,2, \ldots, s$. Define:

$$
\phi(H)=4^{t} \prod_{i=1}^{s} n_{i} .
$$

Lemma 3.7 ([2]). Let $G$ be a simple graph of order $n$ with the signless Laplacian characteristic polynomial of form
$\sigma(Q(G), x)=\operatorname{det}\left(x I_{n}-Q(G)\right)=x^{n}+q_{1}(G) x^{n-1}+q_{2}(G) x^{n-2}+\ldots+q_{n-1}(G) x+q_{n}(G)$.
Then, for $0 \leqslant i \leqslant n$,

$$
(-1)^{i} q_{i}(G)=\sum_{H} \phi(H),
$$

where the summation is over all TU-subgraph of $G$ with $i$ edges.
We use $\bar{G}$ to denote the complement of a graph $G$. For any $e=u v \in E(\bar{G})$, i.e., $e=u v$ is not an edge in $G$. We use $G+e$ to denote the graph obtained by adding $e$ to $G$. Similarly, for any set $W$ of vertices (edges), $G-W$ and $G+W$ are the graphs obtained by deleting the vertices (edges) in $W$ from $G$ and by adding the vertices (edges) in $W$ to $G$, respectively. By Lemma 3.7, we obtain immediately the following result.

Lemma 3.8. Let $G$ be a non-complete connected graph of order $n$ and $e \in E(\bar{G})$. Then

$$
\sigma(Q(G+e), x)=\operatorname{det}\left(x I_{n}-Q(G+e)\right) \succ \operatorname{det}\left(x I_{n}-Q(G)\right)=\sigma(Q(G), x)
$$

Lemma 3.9. Let $n, a_{i}, k$ and $b_{i}$ be positive integers and $a_{1} \geqslant a_{2} \geqslant, \ldots, \geqslant a_{k}$, and $a_{1}-a_{2} \geqslant 2$, where $n=\sum_{i=1}^{k} a_{i}$. If $a_{i}=b_{i}(3 \leqslant i \leqslant k), b_{1}=a_{1}-1, b_{2}=a_{2}+1$, then

$$
\prod_{i=1}^{k}\left(x-n+2 b_{i}\right)-\sum_{j=1}^{k} b_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 b_{i}\right) \succ \prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right) .
$$

Proof. Note that

$$
\left(x-n+2 a_{1}\right)\left(x-n+2 a_{2}\right)=x^{2}-2 n x+2\left(a_{1}+a_{2}\right) x-2\left(a_{1}+a_{2}\right) n+n^{2}+4 a_{1} a_{2}
$$

and

$$
\begin{gathered}
\left(x-n+2 b_{1}\right)\left(x-n+2 b_{2}\right)=x^{2}-2 n x+2\left(b_{1}+b_{2}\right) x-2\left(b_{1}+b_{2}\right) n+n^{2}+4 b_{1} b_{2} \\
=x^{2}-2 n x+2\left(a_{1}+a_{2}\right) x-2\left(a_{1}+a_{2}\right) n+n^{2}+4 a_{1} a_{2}+4\left(a_{1}-a_{2}\right)-4 .
\end{gathered}
$$

So

$$
\begin{equation*}
\left(x-n+2 b_{1}\right)\left(x-n+2 b_{2}\right)-\left(x-n+2 a_{1}\right)\left(x-n+2 a_{2}\right)=4\left(a_{1}-a_{2}\right)-4 \tag{3.3}
\end{equation*}
$$

Again,

$$
\left(-a_{1}\right)\left(x-n+2 a_{2}\right)+\left(-a_{2}\right)\left(x-n+2 a_{1}\right)=-\left(a_{1}+a_{2}\right) x+\left(a_{1}+a_{2}\right) n-4 a_{1} a_{2}
$$

and

$$
\begin{aligned}
\left(-b_{1}\right)(x-n & \left.+2 b_{2}\right)+\left(-b_{2}\right)\left(x-n+2 b_{1}\right)=-\left(b_{1}+b_{2}\right) x+\left(b_{1}+b_{2}\right) n-4 b_{1} b_{2} \\
= & -\left(a_{1}+a_{2}\right) x+\left(a_{1}+a_{2}\right) n-4 a_{1} a_{2}-4\left(a_{1}-a_{2}\right)+4
\end{aligned}
$$

Thus

$$
\begin{equation*}
-b_{1}\left(x-n+2 b_{2}\right)-b_{2}\left(x-n+2 b_{1}\right)-\left[-a_{1}\left(x-n+2 a_{2}\right)-a_{2}\left(x-n+2 a_{1}\right)\right]=-4\left(a_{1}-a_{2}\right)+4 \tag{3.4}
\end{equation*}
$$

Hence, by (3.3) and (3.4),

$$
\begin{equation*}
\prod_{i=1}^{k}\left(x-n+2 b_{i}\right)-\prod_{i=1}^{k}\left(x-n+2 a_{i}\right)=\left[4\left(a_{1}-a_{2}\right)-4\right] \prod_{j=3}^{k}\left(x-n+2 a_{j}\right) \tag{3.5}
\end{equation*}
$$

$-\sum_{j=1}^{2} b_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 b_{i}\right)+\sum_{j=1}^{2} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)=-\left[4\left(a_{1}-a_{2}\right)-4\right] \prod_{j=3}^{k}\left(x-n+2 a_{j}\right)$.
For $3 \leqslant i \leqslant n$,

$$
-a_{i}\left(x-n+2 a_{1}\right)\left(x-n+2 a_{2}\right)=-a_{i}\left[x^{2}-2 n x+2\left(a_{1}+a_{2}\right) x-2\left(a_{1}+a_{2}\right) n+n^{2}+4 a_{1} a_{2}\right]
$$

and

$$
-b_{i}\left(x-n+2 b_{1}\right)\left(x-n+2 b_{2}\right)=-b_{i}\left[x^{2}-2 n x+2\left(a_{1}+a_{2}\right) x-2\left(a_{1}+a_{2}\right) n+n^{2}+4 a_{1} a_{2}+4\left(a_{1}-a_{2}\right)-4\right] .
$$

Therefore,

$$
\begin{equation*}
-b_{i}\left(x-n+2 b_{1}\right)\left(x-n+2 b_{2}\right)-\left[-a_{i}\left(x-n+2 a_{1}\right)\left(x-n+2 a_{2}\right)\right]=a_{i}\left(-4\left(a_{1}-a_{2}\right)+4\right) . \tag{3.7}
\end{equation*}
$$

By (3.6) and (3.7),

$$
\left.=-\left[4\left(a_{1}-a_{2}\right)-4\right] \prod_{j=3}^{k}\left(x-n+2 a_{j}\right)+\sum_{i=3}^{k} \prod_{j=3, j \neq i}^{k}\left(x-n+2 a_{j}\right) a_{i}\left[-4\left(a_{1}-a_{2}\right)+4\right)\right] .
$$

Hence, by (3.5) and (3.8),

$$
\begin{gathered}
{\left[\prod_{i=1}^{k}\left(x-n+2 b_{i}\right)-\sum_{j=1}^{k} b_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 b_{i}\right)\right]-\left[\prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)\right]} \\
\left.=\sum_{i=3}^{k} \prod_{j=3, j \neq i}^{k}\left(x-n+2 a_{j}\right) a_{i}\left[-4\left(a_{1}-a_{2}\right)+4\right)\right]
\end{gathered}
$$

Thus, by Definition 3.2
$\prod_{i=1}^{k}\left(x-n+2 b_{i}\right)-\sum_{j=1}^{k} b_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 b_{i}\right) \succ \prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)$.
Hence we have finished the proof of the lemma.
Theorem 3.10. Let $G$ be a connected graph of order $n$ with chromatic number $k$. Then

$$
\begin{gathered}
\sigma(Q(G), x) \preceq(x-n+r)^{(r-1)(k-s)}(x-n+r+1)^{r s}\left[(x-n+2 r)^{k-s}(x-n+2 r+2)^{s}\right. \\
\left.-(k-s) r(x-n+2 r)^{k-s-1}(x-n+2 r+2)^{s}-s(r+1)(x-n+2 r)^{k-s}(x-n+2 r+2)^{s-1}\right] .
\end{gathered}
$$

The equality holds if and only if $G \cong K_{\underbrace{}_{k-s}, \ldots, r}^{r+1, \ldots, r+1}$, where $r$ and $s$ are integers with $n=r k+s$ and $0 \leq s<k$.

Proof. Let $G^{*}$ be a graph having the maximum coefficients of the signless Laplacian characteristic polynomial among all connected graphs of order $n$ with chromatic number $k$. Then $V\left(G^{*}\right)$ can be partitioned into $k$ color classes, say $V_{1}, V_{2}, \ldots, V_{k}$. Let $\left|V_{i}\right|=a_{i}$ for $i=1,2, \ldots, k$. Then $\sum_{i=1}^{k} a_{i}=n$. Lemma 3.8 implies that $G^{*} \cong K_{a_{1}, a_{2}, \ldots, a_{k}}$. Assume that $a_{1} \geqslant a_{2} \geqslant \ldots \geqslant a_{k}$. By theorem 2.1,

$$
\sigma(Q(G), x)=\prod_{i=1}^{k}\left(x-n+a_{i}\right)^{a_{i}-1}\left(\prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)\right)
$$

If $a_{p}-a_{q} \geq 2$, Lemma 3.4 implies that (let $a_{p}=a, a_{q}=b$ in Lemma 3.4)

$$
\left(x-n+a_{p}-1\right)^{a_{p}-2}\left(x-n+a_{q}+1\right)^{a_{q}} \succ\left(x-n+a_{p}\right)^{a_{p}-1}\left(x-n+a_{q}\right)^{a_{q}-1} .
$$

Hence

$$
\begin{equation*}
\prod_{i=1}^{k}\left(x-n+b_{i}\right)^{b_{i}-1} \succ \prod_{i=1}^{k}\left(x-n+a_{i}\right)^{a_{i}-1} \tag{3.9}
\end{equation*}
$$

where $b_{p}=a_{p}-1, b_{q}=a_{q}+1, b_{i}=a_{i}$ for $1 \leq i \leq k, i \neq p, q$. By Lemma 3.9,

$$
\left.\prod_{i=1}^{k}\left(x-n+2 b_{i}\right)-\sum_{j=1}^{k} b_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 b_{i}\right)\right) \succ \prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)
$$

Thus, by (3.9),

$$
\begin{aligned}
& \prod_{i=1}^{k}\left(x-n+b_{i}\right)^{b_{i}-1}\left(\prod_{i=1}^{k}\left(x-n+2 b_{i}\right)-\sum_{j=1}^{k} b_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 b_{i}\right)\right) \\
\succ & \prod_{i=1}^{k}\left(x-n+a_{i}\right)^{a_{i}-1}\left(\prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i=1, i \neq j}^{k}\left(x-n+2 a_{i}\right)\right) .
\end{aligned}
$$

Hence, replacing any pair $\left(a_{i}, a_{j}\right)$ satisfying $a_{i}-a_{j} \geq 2$ with the pair $\left(a_{i}-1, a_{j}+1\right)$ in product

$$
\prod_{i=1}^{k}\left(x-n+a_{i}\right)^{a_{i}-1}\left(\prod_{i=1}^{k}\left(x-n+2 a_{i}\right)-\sum_{j=1}^{k} a_{j} \prod_{i \neq j}^{k}\left(x-n+2 a_{i}\right)\right)=: f(x)
$$

will increase the coefficients. By repeating this process, we find the coefficients of $f(x)$ with $\sum_{i=1}^{k} a_{i}=n$ and $a_{1} \geqslant a_{2} \geqslant \ldots \geqslant a_{k}$ is maximum if and only if $a_{1}=a_{2}=\ldots=a_{k-s}=r$ and $a_{k-s+1}=\ldots=a_{k}=r+1$, where $r, s$ are integers with $n=r k+s$ and $0 \leqslant s<k$. Then $G^{*} \cong K_{\underbrace{}_{k-s}}^{r, \ldots, r} \underbrace{r+1, \ldots, r+1}_{s}$, which is called the Turán graph. It is not difficult to prove that if $G^{*} \cong K_{\underbrace{}_{k-s}, \ldots, r}^{r, \underbrace{r+1, \ldots, r+1}_{s}}$, then

$$
\begin{gathered}
\sigma\left(Q\left(G^{*}\right), x\right)=(x-n+r)^{(r-1)(k-s)}(x-n+r+1)^{r s}\left[(x-n+2 r)^{k-s}(x-n+2 r+2)^{s}\right. \\
\left.-(k-s) r(x-n+2 r)^{k-s-1}(x-n+2 r+2)^{s}-s(r+1)(x-n+2 r)^{k-s}(x-n+2 r+2)^{s-1}\right]
\end{gathered}
$$

The theorem thus follows.
Remark 3.11. Theorem 3.10 implies that the Turán graph $K_{\underbrace{}_{k-s}, \ldots, r}^{r+1, \ldots, r+1}$ has the maximum coefficients of signless Laplacian characteristic polynomials among all graphs of order $n$ with chromatic number $k$, where $n=r k+s$ and $0 \leq s \leq k$.

The following lemma is immediate from Lemmas 3.5.
Lemma 3.12. Let $G_{1}$ and $G_{2}$ be two bipartite graphs with $n_{1}$ and $n_{2}$ vertices, respectively. For any two positive integers $p_{1}$ and $p_{2}$ satisfying $n_{1}+p_{1}=n_{2}+p_{2}$, then

$$
\begin{aligned}
x^{p_{1}} \sigma\left(G_{1}, x\right) \succeq x^{p_{2}} \sigma\left(G_{2}, x\right) \Rightarrow E\left(G_{1}\right) \succeq E\left(G_{2}\right) ; \\
x^{p_{1}} \sigma\left(G_{1}, x\right) \succ x^{p_{2}} \sigma\left(G_{2}, x\right) \Rightarrow E\left(G_{1}\right) \succ E\left(G_{2}\right) .
\end{aligned}
$$

By Lemmas 3.6 and 3.12 and Theorem 3.10, the following result is obvious.
Theorem 3.13. Let $G$ be a simple graph of order $n$ whose chromatic number is $k$, where $n=r k+s$ and $0 \leqslant s<k$. Then

$$
E(S(G)) \leqslant E(S(K_{\underbrace{}_{k-s}, \ldots, r}^{r+1, \ldots, r+1}))
$$

with equality if and only if $G$ is the complete multipartite graph $K_{\underbrace{}_{k-s}, \ldots, r}^{r} r{ }_{s}^{r+1, \ldots, r+1}$, where $S(G)$ denotes the subdivision of $G$.

## Acknowledgements

We are grateful to the anonymous referees for some friendly and helpful revising suggestions.

## References

[1] R. Balakrishnan, The energy of a graph, Linear Algebra Appl. 387 (2004), 287295.
[2] N. Biggs, Algebraic Graph Theory, 2nd edn, Cambridge, Cambridge University Press, 1993.
[3] D. M. Cvetković, M. Doob, H. Sachs, Spectra of Graphs, Academic Press, New York, 1980.
[4] C. Delorme, Eigenvalues of complete multipartite graphs, Discrete Math., 312 (2012), 2532-2535.
[5] I. Gutman, Acyclic systems with extremal Hückel $\pi$-electron energy, Theoret. Chim. Acta (Berlin), 45 (1977), 79-87.
[6] I. Gutman (Ed.), Advance in the Theory of Benzenoid Hydrocarbons, Topics in Current Chemistry, vol. 163, Springer, Berlin, 1992.
[7] I. Gutman, The energy of a graph: Old and new results, Collection: Algebraic Combinatorics and Applications, Gossweinstein, 1999, pp. 196-211.
[8] I. Gutman, The energy of a graph, Ber. Math. Statist. Sekt. Forschungszentrum Graz, 103 (1978), 1-22.
[9] I. Gutman, Acyclic systems with extremal Hückel $\pi$-electron energy, Theoret. Chim. Acta (Berlin), 45 (1977), 79-87.
[10] I. Gutman, O. E. Polansky, Mathematical Concepts in Organic Chemistry, Springer, Berlin, 1986.
[11] J. H. Koolen, V. Moulton, Maximal energy graphs, Adv. Appl. Math. 26 (2001), 47-52.
[12] J. H. Koolen, V. Moulton, Maximal energy bipartite graphs, Graphs Combin. 19 (2003), 131-135.
[13] V. Nikiforov, The energy of graphs and matrices, J. Math. Anal. Appl., 326 (2007), 1472-1475.
[14] V. Nikiforov, Graphs and matrices with maximal energy, J. Math. Anal. Appl., 327 (2007), 735-738.
[15] J. Rada, A. Tineo, Polygonal chains with minimal energy, Linear Alg. Appl., 372 (2003), 333-344.
[16] H. Y. Shan, J. Y. Shao, L. Zhang, C. X. He, A new method of comparing the energies of subdivision bipartite graphs, MATCH Commun. Math. Comput. Chem., 68 (2012), 721-740.
[17] W. Qiu, W. G. Yan , Coefficients of Laplacian characteristi polynomials of graphs, Linear Alg. Appl., 436 (2012), 2474-2479
[18] S. Shinoda, On the characteristic polynomial of the adjacency matrix of the subdivision graph of a graph, Discrete Appl. Math., 2 (1980), 349-351.
[19] W. G. Yan, L. Z. Ye, On the minimal energy of trees with a given diameter, Appl. Math. Lett., 18 (2005),1046-1052.
[20] F. Zhang, Z. Li, L. Wang, Hexagonal chains with minimal total $\pi$-energy, Chem. Phys. Lett., 337 (2001), 125-130.
[21] F. Zhang, Z. Li, L. Wang, Hexagonal chains with maximal total $\pi$-energy, Chem. Phys. Lett., 337 (2001), 131-137.

School of Sciences, Jimei University, Xiamen 361021, China
E-mail address: hurenshi23@126.com

Corresponding author, School of Sciences, Jimei University, Xiamen 361021, China
E-mail address: weigenyan@263.net

Fuzhou College of Foreign Studies and Trade, Fuzhou 350203, China
E-mail address: qiuwei115@yohoo.com.cn

